EAGRAROBREERT — 2 N— ABISH —F

20195118230 (£) 16E1AE2H

mﬁlﬁm%‘ $5%R3mkE [zl w | lmEmml - |5 @) oo g
[A&4£] 1 7% :1,200,000 @ ~ 23 :360,000 @ . 33 :120,000  ~ 43#&:72,000 M 5 3&:48,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N BER— . — . — IUER#E (£8)
117l 74—70—-N— # 5 | BB ?3_;1 3-2 35.4 5 (11?2) e
R b=t T Bh—t2 Ty F AREM IXF177—L4
& o = &K TER = = ekt (1£8)
olglg| TUHARZE-T 4 285D ) I 1 (4_112) wiEA
Z:A—FNYAZX B:OXEX+0O)-—X B 77—L4
[N N [i[mE2] - - AB®Y (BR)
K] > AR o6 | LB o S ? fff) weeg
R:TIRAFIEIIN B:IAH43Y pelrie]
417l 7 FALHE<S 3y 4 5 SES.B?))EC (5%) 5-4 35.5| — 6 (4_717) *??T?;”(E%)
RihS=— BNFIAILY
RF D . — . -
s 6 A5 )T 4 5 5/3_0 (2541/22) 8-7 35.2 4 (4_5;4)
RHTIRTAT BAT I
. BEEIFE . — . — BHEXE (£8)
c PN 4 27— 0 55.0 (?fﬁ) 66 %3 3 (i??) Eﬁ\gq— =
RFGTHANAN BKRYFAALT AR HET7— L
= THEAE = — hEFE (£8)
2lsls | I3 F # o8 | HEX 5(42.>6 7-8 35.6 7 ;1:373) i
LiFLnwyFIvtE 8:4Y ity FESA
= . : : I = _ = 5
glglio| 7VvyruE—% £ 8 Jssl%#ﬁ 5(52.)0 10-10 | 35.1 8 | 4771 E/Jg\?éf)\ (=8)
RELTHANAN B ELFTUE—F 60 | %) aa-KL-varazTs
S SR 4 6 | BLUFES 55.4 4-5 37.2| — 9 467 | HMBE (EEB)
911 |71Z7>KU— 450.0 @ -3) (@) J P NEH
L:FLNnTyTItE B:/—RULT TTER S
. TR _ - 9| - EBAE (EH)
10 3|77y K778l @i 7 5.0 (575% 9 %9 10 (4+719) SIEFAENL .
L:v—NRFXH>F— B hETU-— AH BE
® 1 —F—@EBIERL
13—=7-—
20—F—
== 9,2,8,1,7,4,5,6,3,10
40 —F— 9,8,2,7,1,4,6,5,3,10
[ N5
B 8 1,700M 714K 8-9 300 e E 7-8 490 JEE 2-8-9 590M4
B B 8 200 2-8 4709 B = 8-9 1,020 3EE 8-9-2 7,410
9 100M 2-9 140/ B H 8-9 3,140M
2 100

ARICOVWTRDTEEERROODE. TR LI,




